18.00
[457.2]

| 6.00
[152.4]

cooo

cooo

108.00
[2743.2]

cooo

[falaty

[515.91

20.31

MATERIAL ID DESCRIPTION

EQUIPMENT RACK, 6 INCH
760139121 CHANNEL X 9 FT HIGH, 58RU

NOTES:

1. SEE COMMSCOPE CATALOG FOR PART NUMBER
SUFFIXES TO INDICATE COLOR/PKG.

2. SEE COMMSCOPE CATALOG FOR COMPLETE LIST OF
PARTS RELATED TO THE USE OF THIS PRODUCT.

3. DIMENSIONS IN PARENTHESES ARE IN METRIC.

4. PART INCLUDES:

(2) RAIL, 6 IN CHANNEL X, 108 INCH, 3/8 SQUARE PUNCHED
(2) PANEL,FLOOR MOUNT, 19" RACK

(2) STIFFENER SUPPORT, UPPER,2-POST RACK,19"

(12) BOLT,HEX HD, 3/8-16 UNC X 1.00 LG

(12) NUT,HEX, STL,3/8-16 UNC

(40) PANHEAD SCREW, CROSS RECESS, M6-1 X 15MM LONG
(12) WASHER, LOCK,SPLIT, 3/8"

(40) CAGE NUT ASSEMBLY, M6

RK6-58S

COM MSCOPE, INC OF NORTH CAROLINA

1 12/08/2011

INITIAL ISSUE

DRAWN BY

REV DATE ECR

DESCRIPTION

APPROVED
BY

DWG NO

ATE 1210812011 760139121

(© 2010CommScope, Inc. All Rights Reserved




